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X £ | B F | BEE | X £ | 81 £ | BEE | X £ | W1 F | BEHK
q & B R 77 72 5 2 1 1 86 79 7
B K 111 131 -20 2 1 1 119 155 -36
i} & 66 63 3 2 2 73 73
B & & 47 49 -2 53 55 -2
i & 146 153 -7 4 1 3 159 174 -15
B v} 12 4 8 1 -1 13 3 10
w o E 296 313 -117 3 3 317 346 -29
B oW 7 113 131 -18 120 159 -39
w W @ 21 218 -7 3 4 -1 230 233 -3
AFER 5 9 -4 1 2 -1 5 8 -3
# ¥ 43 51 -8 3 -3 47 54 -7
X M 38 32 6 4 1 3 40 37 3
AN 20 22 -2 1 1 21 24 -3
i} ¥ 18 18 1 1 22 20 2
F M B 40 59 -19 1 1 44 66 -22
= i) 1 8 -7 1 9 -8
= 5 18 12 6 2 1 1 21 15 6
BEF A @ 459 472 -13 10 4 6 503 539 -36
N 668 722 -54 7 12 -5 719 800 -81
BF A @ 117 139 -22 7 4 3 128 156 -28
B AN & & 1,262 1,345 -83 26 21 5 1,371 1,510 -139
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X £ | B F | BEE | X £ | 81 £ | BEE | X £ | W F | BEHK
B 42 27 15 1 1 25 18 7
B K 58 68 -10 2 1 1 33 47 -14
i} & 28 17 11 17 13 4
B & @ 23 21 2 11 1
i & 65 69 -4 4 4 36 41 -5
B v} 5 4 1 1 -1 4 3 1
w o E 94 98 -4 2 2 40 51 -1
B oW 7 48 49 -1 26 24 2
w W @ 82 74 8 2 3 -1 55 38 17
AFER 1 3 -2 1 3 -2
# ¥ 18 24 -6 3 -3 11 12 -1
X M 15 17 -2 3 1 2 9 1 -2
AN 1 9 2 1 1 2 8 -6
i} ¥ 8 13 -5 1 -1 4 1 -1
F M B 27 33 -6 1 1 18 19 -1
= 5] 1 7 -6 1 8 -7
= = 4 2 2 2 1 1
BEF A @\ 221 206 15 7 2 5 126 133 -1
N 243 248 -5 4 8 -4 133 128 5
BF A @ 62 79 -17 5 3 2 34 57 -23
B AN & &t 530 535 -5 16 13 3 295 319 -24
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